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Instructions for Candidates

Write your Roll No. on the top immediately on receipt of this question paper.

2. The first question is compulsory.

3. Attempt any four of the remaining questions.

4. All questions carry equal marks.

5. Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.
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State whether true or false and explain :

{a) If there are constant returns to scale the long-run average cost curve must
be U-shaped.
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(b)

(c)

(d)

(¢)

2
An increase in the demand for pencils raises the quantity of pencils demanded

but not the quantity supplied.

If a consumer faces a zero price for good x, the budget line is parallel to

the x axis.

A good that has an income elasticity of demand less than zero is called a
Giffen good.

A monopolist’s marginal revenue is always less than the price of its
good. (3 marks each)

TE 2 41 T qdEd AR R S

(F) IR IR w1 gfawe Reg & o Seri Jigd 9N 9% U-HHR &1 80 |

(@) smr AR o i a2, A Rk A W A A 2wy W A B A

()

2. (a)

(b)

& w2

g2 fordt Il & fore a5 X o1 159 390 B Al J6a awie TE X 3l @ dHATR
B 1

o axg &t Wi A s A= T A w9 B 9w e T wEad R |

UF TR 1 ST A 38 Jefed 9t @ Med A 934 W B 2 )

Use indifference curves to show how an individual decides to allocate her
time between work and leisure. Will she necessarily work more if the wage
rate rises ? (7

Suppose the demand for bread rises. What happens to producer surplus
in the market for bread ? What happens to producer surplus in the
market for flour (an ingredient for making bread) ? Use diagrams to
explain. — (8)
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A consumer spends his entire income on petrol and all other goods. The
price of petrol is initially Rs. 2 per litre. The government now announces a
subsidy on petrol of Re. 1 per litre, for each litre of petrol purchased in
excess of 10 litres. No subsidy is paid on the initial 10 litres of petrol. How
would this affect the budget line of a consumer whose income is Rs. 100 a
month ? : (3)

You own a restaurant selling burgers and employ 7 workers. Each worker
is paid Rs. 60 an hour. A burger sells for Rs. 30. You are a profit maximizer.
What is the value of marginal product of the last worker hired ? What is his

marginal physical product ? (6)
Given the following demand curve facing a monopoly :
Q=14 - 2P

Find the profit maximizing price and output of the monopolist, if she has.
constant marginal cost of Rs. 5. How will the total surplus in this market

change 1f she practices perfect price discrimination ? (6)
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Derive the long run supply curve of a decreasing cost perfectly competitive

industry. (6)
Show that the elasticity of supply for a supply curve that passes through the
originis 1. 4)

At the end of the year an accountant tells you that your firm’s profits are
Rs. 5,00,000. By managing your own firm you forego a salary of Rs. 3,00,000
per annum that you could have earned by working for someone else.
You also have Rs. 10 lakhs of your own funds tied up in your business.
Assuming a rate of interest of 15% per annum calculate your economic
profit. : (5
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(a) Explain the difference between break-even point and shut down point for a
firm. (6)

(b) If the government increases the per unit tax on a good x, will the revenue

from this tax necessarily rise ? (4)

(c) (i) Why are isoquants downward sloping and convex to the origin ?

(i) If MRTS, , = 1.5 and the marginal product of labour (L) is 6, what is
the marginal product of capital (K} ? (5)
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(a) [fin the short run the marginal product of a variable input declines from the
beginning (that is, from the very first unit) what will be the shape of the

short-run average and marginal cost curves ? (5)

(b) Explain why the substitution effect of a fall in the price of good x cannot
lead to a decrease ir} the quantity demanded of x. (3)

{c) What is a price ceiling ? What effect does a ceiling on rents have on the

market for rental accommodation ? (5)
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(a) “Subsidies are inefficient as they lead to deadweight loss.” Do you agree ?

Use diagrams to illustrate your answer. (5)

(b) If the minimum wage is above the equilibrium wage in a competitive
labour market, what effect will this have on employment ? Show using a
diagram. (5)

(c) A consumer spends his entire income on milk and cookies. Can both be

inferior goods ? Explain. (5)
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